H & 0l & AHS B Ml A

0268 20laF Motz +=ZNESEAH &
M 23
ZH: HZLBLAY
CHel BHEI|RAI SE(ROE LRINLSESH) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
31 14,107,493 8,204,468 5,903,025
= 6,074,000
Jl 6,550,472
= 18,900
o 1,464,121
Y =2clAr 11,250,765 5,686,036 5,564,729
= 6,074,000
) 4,004,744
= 18,900
= 1,093,121
EBZI AL SS(Retz SZWLSES) 7,543,900 2,649,300 4,894,600
= 6,074,000
Jl 1,174,000
= 18,900
o 277,000
2o ¥ IIEERM2AE FH0E XF 140,000 140,000 0
401 AlZHIZ SO 40,000 40,000
01 A28l 40,000 40,000
O2k % IIEERXeAE F80ts =3
ASORA, ERIS0HE) 40,000,000& 40,000
402 QI2F X201 & 100,000 100,000
01 QI X2 AL E A (KEMITHE) 100,000 100,000
O2hk € JIEERXcAE F80ts N
A ORa, golsorE)
100,000,000 100,000
i};f--i—hg—g—fﬁlEI/\lg(Jﬁlﬂ%OﬂL‘IIIiP/\Ié i VNN 5,870,000 1,604,000 4,266,000
= 5,759,000
Jl 111,000
403 AXIEHHSA=201E 5,870,000 1,604,000 4,266,000
= 5,759,000
) 111,000
02 S 2SS0t et =& 2 EF A I 5,870,000 1,604,000 4,266,000
Ogletz HIAHA MU XIStAIE & XI(BTO)
5,870,000,000& 14 5,870,000
= 5,759,000
Jl 111,000
TEHE HELSNZA 810,900 205,300 605,600
= 315,000
Il 375,000
== 18,900
o 102,000
401 A2 HIRL R 0HbI 810,900 205,300 605,600
= 315,000




M 23
B3 HELB2| AL
CHel BHEI|RAI SE(ROE LRINLSESH) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 375,000
=S 18,900
s 102,000
01 Al 809,900 204,300 605,600
OP2A BN EAEZA
809,900,000& *14] 809,900
= 315,000
) 375,000
= 18,900
= 101,000
03 AIZ 2 THYI 1,000 1,000 0
OTF2H ABEX TLZA
1,000,000 *14] 1,000
SEA HIBEEMZAY 603,000 700,000 /97,000
7l 568,000
Ea 35,000
401 AlEHIZ SO 603,000 700,000 A97,000
Jl 568,000
= 35,000
01 Al&HI 603,000 697,000 /94,000
OUEAE ABSA TESA
603,000,000 x 14 603,000
) 568,000
o 35,000
=SXUHSAE 120,000 0 120,000
Jl 120,000
403 X HMSAH=01H 120,000 0 120,000
) 120,000
02 S 2SS0t et =& 2 EF A I 120,000 0 120,000
OSH FHag =SZ02 2HIEX
120,000,000 *14] 120,000
Jl 120,000
EHIIEAE 2 (=ENASEIAH)(DZ S=ENLS 3,096,726 2,560,614 536,112
E312)
Il 2,286,000
= 810,726
é:%)li/\lé%% N (2 & IHEERHIANL)-2 2,298,852 2,131,776 167,076
4
) 2,115,000
o 183,852
101 21A4H| 7,353 7,236 17
Il 6,249
s 1,104
M ORNZZ2NSE S 7,353 7,236 17




M 23
B HELB2| ALY
el B3I IZAIE 2E(FENESEI) (AtE =EINLSEIAH) (CHe ® <)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJN=2XAE M=HY S 2222 7,353
—J=2 85,9102 x4 »20 6,873
) 5,841
o 1,032
— St 2,0003 4% ~20e 160
2l 136
[Ea 24
—a4tl 4,0003 =4 +20 320
Jl 272
= 48
201 er=23y| 967,765 956,000 11,765
Jl 913,452
s 54,313
01 AtR2t2|HI 63,089 96,000 A32,911
OJ=2aXelAlE 283
3,000,000& ~12& 36,000
7l 30,600
T 5,400
OJ=2HMelAle 284 HE=(61E],
sEJ|) 7Y 300,000 x5 +23] 3,000
) 2,550
o 450
O2=HIEEMelAld A8y F-SA
raz 3,449, 0002 %1 4! 3,449
7l 2,932
T 517
OXetEaXMeld LIIANTE SHA S22
el 2,640,0002 %14 2,640
) 2,244
o 3%
O&IItE =2
1,500,000& «12& 18,000
7l 16,300
T 2,700
2 35234 904,676 860,000 44,676
O2EHIIEEEXNCANE HIAER
24,000,000& 123 288,000
) 244,800
o 43,200
O2&xel JIAHS I
518,500 x355+12& 217,770
Jl 217,770
OJIs&=Hel JIHSXb
646,5102 x505+ 122 387,906
7l 387,906




SN &2
B HELB2| ALY
el B3I IZAIE 2E(FENESEI) (AtE =EINLSEIAH) EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oaga azJ| sazel
10,000,000& * 14 10,000
Jl 8,500
Ea 1,500
OXSHZAIAE SX2el
1,000,000 *1CH 1,000
Jl 850
[Ea 150
202 04l 9,600 9,600 0
Jl 8,160
o 1,440
01 =LHAHI 9,600 9,600 0
O2LWIE2LH2l YLEA
20,0003 x5 06! 9,600
Jl 8,160
s 1,440
206 M=l 380,600 427,900 247,300
7l 323,510
T 57,090
01 MHZH| 380,600 427,900 A47,300
O2sHI=EERHMeAE 7 132,000
—g3tHlolZ 6002 *140,000kg 84,000
) 71,400
o 12,600
—Jt84t 4002 *110,000kg 44,000
Jl 37,400
[Ea 6,600
—STH 8,0002 x500kg 4,000
Jl 3,400
= 600
O=&24 & ASEH 225 7 6,500
—&EAIY 200,0002 x105*22 4,000
Jl 3,400
[Ea 600
— =X+ 100,000 55 500
Jl 425
= 75
—T0C 3 wAH 200,000 55 1,000
Jl 850
s 150
—00 £&J| 2l 48 F5 UKl
200,000 +55 1,000
Jl 850
= 150




M 23
B HELB2| ALY
T BIIIRAIM SY(AEINESHEH)(ROHD SEIHHSH3IH) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONE2aXIlAlE UAIE Ol 172,800
—O{1AF OI K 6002 *18,000kg*62] 64,800
) 55,080
o 9,720
—EHE O 4,500& *4,000kg*62] 108,000
Jl 91,800
[Ea 16,200
O2=X2AIE OAIE Ol 2L 28,800
— O BtAE O1 TH 6003 +8,000kg*62] 28,800
) 24,480
[Ea 4,320
OZdE oM 4,500& *1,500kg*62] 40,500
Jl 34,425
[Ea 6,075
307 glztol & 466,034 466,040 26
Jl 396,129
= 69,905
05 212t =S 466,034 466,040 YaNG)
Oag4 HYI= A XY
4,434,000 *14] 4,434
Jl 3,769
s 665
OAIEE HDI= |IE Xl 461,600
—8&2 AYH2H(ER)
800,000& *10=*12 8,000
Jl 6,800
[Ea 1,200
— &2 A OIERE k)
140,000& *x270E+ 128 453,600
Jl 385,560
[Ea 68,040
401 AlZHIZ S0 467,500 260,000 207,500
Il 467,500
01 AlZ8| 467,500 260,000 207,500
OI=2aSSHelAE 22| HHT
Of & WAl 233,750,000& 24 467,500
7l 467,500
2 ¥ 2+Xel 20,000 18,000 2,000
402 2I2F X201 & 20,000 18,000 2,000
03 2IZHAETAIHHI 20,000 18,000 2,000
OJtFELdel X NES(E3AE)
200,000,000 *10% 20,000
EZIIZAE2E N3 (AU ASSX) 56,330 55,513 817
Jl 30,000




SN &2
3 FF2 M
ool BREDIZAIE Y (SRNESHEE)(R2 LEHLSHEIH) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 26,330
101 @1A4H| 56,330 55,513 817
Il 30,000
s 26,330
04 JIZtN2Z2XNSE 56,330 55,513 817
OelEsAl =&Y AFY 56,330
—JlEs 85,9102 x10H x456& 38,660
Il 30,000
= 8,660
—uwSH| 2,0003 %10 45 900
—=4| 4,000& 102 46 1,800
—F=5=g 85,9103 10295 7,732
— O x==g 91,9102 10«2 1,839
—HIRE= 269,950 *10H <23 5,39
BFI=ANE2E N (KAUHSKIH) 112,928 149,645 N36,717
Jl 41,000
s 71,928
101 21AH| 50,876 50,145 731
Jl 32,000
[Ea 18,876
M ORNZZ2NSE S 50,876 50,145 731
OXNHUEHSAIE HMESY 22 50,876
—JlZ2= 85,9102 x10E ~40&! 34,364
Jl 32,000
o 2,364
— St 2,0003 %102 40! 800
—=4l 4,0002 102 »40! 1,600
— =5+ 85,910 10«85+ 6.873
— ¢ x==g 91,9102 102 1,839
—8€dRE=S 270,0003*10E *23] 5,400
201 fer= 3| 8,152 11,600 A3,448
01 At 2|l 2,552 6,000 A3,448
OXAMESAH 22l 22F 7
40,0002 =504 2,000
ONAMENSAIZ JI2HRl 22X FH 2E
ol == &Xt= 46,000 122 552
02 S3=4gl 5,600 5,600 0
OXNAMENSKIZ M=(0=D], &CIZIN)H
&g F&4 1,60021 %202 E4 +5CH*20 3,200
OXAMESXH MRS
200,000 * 122 2,400
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400




2t
Y 2elArg
SZHIZAIE SH(FENESES|H) (TR +EIHES (SHol: )
SA - B - SRUBH) - MRAR - BAS A HIDEZ
OMHUESNE mA2c] SNEH
20,0003 x1&*120& 2,400
206 M=l 1,500 1,500
01 MZHl 1,500 1,500
OXAMEISKIE 2ZM, Hig 7
30,0002 55108 1,500
401 A2 HIZL 201 50,000 62,000 212,000
9,000
41,000
01 AlZHI 50,000 62,000 A12,000
OMHAdESAIE 2802 S JHIAY
400,000 x125m* 50,000
9,000
41,000
BIN=ANE2E N (AXHE A3EX) 77,785 76,879 906
40,000
37,785
101 e124d| 61,785 60,879 906
40,000
T 21,785
M ORIMZZ2NSE S 61,785 60,879 906
OeIEsAl =&Y A2y 61,785
—Jlzs 85,9102 x10H x50 42,955
40,000
o 2,955
— W SH| 2,0003 %108 50! 1,000
—a=4tl 4,000& 102 *50 2,000
-5+ 85,9102 x10H«10== 8,591
— %X 91,9102 102 »2& 1,839
—HIFE= 270,000« 10 22 5,400
401 A2 HIZL R 0HbI 16,000 16,000
01 Al&HI 16,000 16,000
O&IXNE QBEX FA2el & A
20,0002 +800m’ 16,000
EAIIZAE2Y X3 (24 ABER) 530,831 128,801 402,030
60,000
470,831
101 2124H| 79,931 78,777 1,154
50,000
o 29,931
04 JIZtN2 2N S 2 79,931 78,777 1,154
OelEssAl ME=&Y IFY 79,931
—JlEs 85,9102 x10H x63 4,124




M 23
B HELB2| ALY
9l BRIIEAIE SY(SEMLSEE) (T2 +EHLSLHEIH) CEERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 50,000
s 4,124
— S| 2,0003 %102 »63 1,260
—=48l 4,0003 10 +63 2,520
—F5=4 85,9102 x10H *135= 11,169
— ¢ x=g 91,9103 x10H+3& 2,758
—HIRE=S 270,000& *10E 32 8,100
201 et23| 8,540 8,024 516
01 AtR2t2|HI 4,100 4,100 0
OBX +HBLIEIYE 2AAE +48
50,000& %102 500
Osil |A22g 57, HE S 7¢
300,000 * 122 3,600
2 52484l 4,440 3,924 516
OLXZ2E HBIM 018
120,000& * 122 1,440
OsNB BHMNSE
250,000 * 128 3,000
401 A2 HIRL R 0HHI 442,360 42,000 400,360
7l 10,000
T 432,360
01 Al&H| 442,360 42,000 400,360
O24t 2IZ3&X FX2el cotv &siHA
10,000,000& * 14 10,000
O2¢ 285Kl Rz &4 & RA2
At 20,000&+1, 100m’ 22,000
Il 10,000
s 12,000
O24t eiE3sil FA22E HIISX2lH]
S 10,000,000 *13] 10,000
O24t 2Bl oHad dotr=E s
30,0003 * 12 360
O2¢t oIBsKl Az HEHT| ZHA
400,000,000 *14] 400,000
AR XS 2e|(Reks SEINEEESE) 501,639 361,622 140,017
Jl 497,744
= 3,89
YN F 2R (BEHE =H7H)-32 180,295 180,792 NA97
Jl 176,400
o 3,89
101 @124H| 162,139 163,692 1,553
) 162,139
03 SR (RINHA) 222+ 109,714 111,988 N2,274
O8Es s=ZZAAE+(82B) 109,714
—453(1¥) 45,956




2A: 2E0
ZH: HYLBLAY
ol ALRBRIXN BR|(XoHE SEIYMSES) (chel: &
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
2= 2,482, 1302« 1P+ 122 29,786
| 29,786
ZUZAH| 140,000& 1H + 122 1,680
| 1,680
s 40,0003 x1Z* 123 480
| 480
AX=E 100, 3762 x1H 10 1,004
| 1,004
AZte| 2R
18,8213 x 127 HA| 2t 12& 6,211
J| 6,211
S22RE
150,564 x 1B x 122 x1 . 54 2,711
J| 2,711
HEFOHI
2,482, 1302 +60%* 14 x23] 2,979
J| 2,979
- H2eY 2,482, 1303 *15)%*22] x1H 745
| 745
F2=E I3 30,0002 x 123l 360
| 360
—125=5(19) 51,758
2= 2,688, 1302 x1H+ 128 32,258
| 32,258
MG A 140,000 x1H + 122 1,680
| 1,680
IIEEE 40,0002+ 1H*12& 480
| 480
- A=Y 108,256 x1H* 10 1,083
J| 1,083
AZte| 22
20,2082 1B 27 Al 2Hx 12 6,699
| 6,699
52I2RE
162,384 * 1. 5AIx 1 122 2,923
| 2,923
HESIHI
2,688, 1303 *60%+*1H +23| 3,226
| 3,226
-2 2,688, 1302 *50%*22| 2,689
| 2,689
d2Y Ihta 60,0003 * 123 720
| 720
—HERES 500,000& x2H x 123 12,000




M 23
ZH: HYLBLAY
CHl ASRIBRINIY ZR|(TOHR SEIPHSHE) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 12,000
04 JIZtNZ2Z2XNS 2 52,425 51,704 721
O8EYSE 22N E(2%) 52,425
=2 85,9103 x2H 198! 34,021
Jl 34,021
—uwSH| 2,000 »2H »198& 792
7l 792
—FHUZAH 4,0002x2% 1982 1,584
Il 1,584
-5+ 85,9103 x2& »40= 6,873
) 6.873
— ¢ x==g 91,9103 2 »9 1,655
Jl 1,655
—SE30Hl 300,000 x2H *13] 600
Jl 600
—H3FE= 350,000 x2H 0 6,300
7l 6,300
—STANY =HEI= 7Y
300,000 x2H*13] 600
Jl 600
201 er2 3| 18,156 17,100 1,056
Il 14,261
s 3,89
01 At 22|l 5,916 5,940 N4
O8YS s =X 4|
9,000 8 x53& 3.816
7l 3,816
O4+Z2ANY =EBI= 7
300,000 x2H *13] 600
7l 600
O=22ZAN H=8 S 78
500,000 32 A 1,500
2 S5=2g4l 12,240 11,160 1,080
O=&ZAIXtE S| 12,240
~NEXH U 2EE
600,000 *14] 600
) 600
—=SU 625,000 «1CH*12& 7,500
Jl 5,105
= 2,39%
— 3N RE= 30,0002 *1CH*22] 60
Jl 60
—sAl2eldl 340,000 x 122 4,080
) 4,080




A BE
X B
[ R} oo

=2telALY
SHol: ARIBRINY BR(AR SEHLSEE|H) CEERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AR | XA 2| AL (= EIHEALY) 207,694 78,000 129,694
Jl 207,694
206 M=l 35,000 38,000 A3,000
Jl 35,000
01 MZH| 35,000 38,000 A3,000
OEgs 8z a=d MEM X
35,000,000 *14] 35,000
Il 35,000
308 AXIMSOIA 172,694 40,000 132,694
) 172,694
13 S [2S0tHet 4 A AS A 172,694 40,000 132,694
Oza BERMXYI| 28Xl
92,693,500 * 14| 92,694
Jl 92,694
O883 sXHHAE
80,000,000 * 14 80,000
Il 80,000
=QRIHAISY EOt & BXIA () 113,650 102,830 10,820
Jl 113,650
101 @12A4H| 106,650 83,805 22,845
) 106,650
03 SR (RINHA) 222+ 83,721 56,292 A2,565
O=HAS FOUXAIY 2eAIAE 22l
2 29 53,727
—95=(1¢) 53,727
JlEs 2,478,380« 1E 122 29,741
Jl 29,741
- MG AHI 140,0002~ 1+ 122 1,680
Jl 1,680
S22
100,232« 1 x 12«1, 54 151
Jl 151
ERLPNENS 100,232 x 12 » 12 1,203
Jl 1,203
Al2EQl 22+g
18, 742 15A1 2+ 1H* 128 3,383
Jl 3,383
SESIHI
1,487, 0313 60 1H*22] 1,785
Il 1,785
d=2=+¢ 1,126, 5242 x50+ 1H <22 1127
7l 1,127
- 325E ORts 50,000& *122] 600
Il 600




M 23
B HELB2| A
ol ALRBRIXN BR|(XoHE SEIYMSES) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HERES 1,171,410« 18~ 12E 14,067
Jl 14,057
M ORNZZ2NSE S 52,923 27,513 25,410
O=H7S FOXFAY 2e|FE =X 52,923
—JlZ2= 85,9102 +6E »75 38,660
Jl 38,660
— S| 2,000 6«75 900
Il 900
—a=4Hl 4,000 6 »75& 1,800
7l 1,800
—F5=4 85,9102 +x6& 16 8,248
Il 8,248
— %X 91,9106 +1& 552
Jl 552
—HIRE=S 460,500 «6H 12 2,763
Jl 2,763
201 el 2,000 13,025 211,025
Il 2,000
01 AtR2tc|HI 1,500 12,025 /10,525
OFUNANY 5T ADE ARRE 2
15,0003 *1005 1,500
7l 1,500
02 S3=gHl 500 1,000 A500
OFUXEANG 8 oHHE &S RBRS
2,500 «2000H 500
Jl 500
202 O4H| 5,000 6,000 1,000
Il 5,000
01 2LHoIH 5,000 6,000 21,000
O=2XN A =8 dEf B
25,0003 x2ZH*100 5,000
) 5,000
AT ACIANL (AT =EIHLSESA) 108,500 114,500 26,000
Jl 107,000
o 1,500
QT IAA(SZ) 57,000 60,000 A3,000
) 57,000
207 ARl 57,000 60,000 23,000
Jl 57,000
01 S| 57,000 60,000 23,000
O'24d =Zgsee| 01dEIHSY)
57,000,000 » 14! 57,000
Jl 57,000
TEFESHA(HTY) 51,500 54,500 23,000




M 23
ZH: HZ4BL A
TPl QBRI (KNP SENLSHEH) (choy: @2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 50,000
s 1,500
201 er23| 1,500 1,500
01 At2teltl 1,500 1,500
O+HOEEYRIR| HEAZAL SLE(
HEY) 1,500,0002 *14] 1,500
207 ARl 50,000 53,000 23,000
Il 50,000
01 H1E4H] 50,000 53,000 23,000
O'2d +HQEAZBBA| OIBBIHALRY)
50,000,000& x 14 50,000
) 50,000
F=HAS =X AL 2,856,728 2,518,432 338,296
Jl 2,485,728
s 371,000
22| ZE FURNAAL(NtZ +=ZIHLSESIA) 2,8%,728 2,518,432 338,296
Jl 2,485,728
[Ea 371,000
S| HEFQRN (=172 FUXAY) 1,272,728 1,218,432 54,296
7l 1,272,728
402 2IZtA=01d 1,272,728 1,164,653 108,075
Jl 1,272,728
02 QI X2 AL EE(OIETHE) 1,272,728 1,164,653 108,075
O AFLUXE AL 1,272,728
— 2B X H ALY 636,364,000 *14] 636,364
Jl 636,364
—HE XA 1,185,035 #537H 636,364
Jl 636,364
F=HTA FORJMSG(SEXNY) 1,584,000 1,300,000 284,000
Jl 1,213,000
= 371,000
401 AIZHIZ SO 1,044,000 400,000 644,000
Jl 772,000
[Ea 272,000
01 AlZH| 1,036,974 392,800 644,174
OEEY =1 SHSMIIst2 2|22
500,000,000 *99.28% 496,400
Il 496,400
Ollgld BE+ XMlAlE HEAY
540,574,000 x 14 540,574
Jl 270,287
s 270,287
03 Al 20HHI 7,026 7,200 ATT74




M 23
M Ao FOIT|A A
CHel: DIRIHY FOIXBAIY (TR SEIHES25) (o) &)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
SEEEETEEE R
Sasilsl 500,000,000&*0.72% 3,600
Jl 3,600
O HE2 HelAE HaA 20
3,426,000 14! 3,426
Jl 1,713
o 1,713
403 AXIEHMSA=Z0l1d 540,000 900,000 360,000
Il 441,000
s 99,000
02 SO 2SOt stA=2H 2 €A H] 540,000 900,000 A360,000
Oetd WHDE S3HZ(LPG) ES ALY
540,000,000& *14] 540,000
Jl 441,000
s 99,000




H & 0l & AHS B Ml A

20258 20lat Motz +=ZIfHSEI A X

SN MBS
I FF2elAY
ERl: B3I IZAE ES(AZHENASESH) (2etE =EINESESH) ESR=ED
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Aot=E 1t 28,460,664 19,119,851 9,340,813
= 12,747,000
Il 2,995,000
= 1,444,050
Ea 11,274,614
B2 A 19,878,421 17,005,387 2,783,034
= 7,641,000
Il 2,995,000
= 269,200
= 8,973,221
BAIIEAIL BE(RAPLBNLSHE) (RO +H 14,168,479 10,748,935 3,419,544
HESLE3H)
= 7,641,000
Il 1,254,000
=S 269,200
= 5,004,279
of==2H BIL SXt= XA 2,391,340 2,703,280 A311,940
= 1,531,000
Il 544,000
Ea 316,340
201 er=2 3| 4,340 4,280 60
01 AtR2t2|HI 4,340 4,280 60
OBIL 81t&EJ A2 88+
217,000& x5 H #42] 4,340
402 QIt X201 2,387,000 2,699,000 A312,000
= 1,531,000
Il 544,000
s 312,000
03 SIZ2t? & AR I 2,387,000 2,699,000 A312,000
Oodt==2t 1 EHIBTLAIY 23|
122,000,000& 22 7| 244,000
Oodt==2t 1 EHIBTLAIY U=
2,143,000,000& x 14 2,143,000
= 1,531,000
Il 544,000
Ea 68,000
ol=22 Hi==&H| EXIAY 300,000 324,000 224,000
401 Al HIZ 2018 300,000 324,000 24,000
01 A&l 300,000 324,000 A24,000
OS=22 ot=22 (H==£Hl) ZHIAIL
100,000,000 *14] 100,000
Ode ot=2Z2 (i=£Hl) FHIAIY
100,000,000 * 14! 100,000
OTAATX S22 (HH=&HI) FHIAY
100,000,000& * 14| 100,000




FA: Aot
3 FY2 M
o9l BAIIZAS HE(TARLTHLSHEN) (D2 LEHLSHSI) CEERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ot=2tZ HH| - XHAl 2,810,985 2,637,050 173,935
401 AIZHIZ SO 2,810,985 2,637,050 173,935
01 Al&HI 2,799,061 2,627,590 171,471
Ontgd 2322 of=22 FHIAIY
400,000:& *2,000m 800,000
Odt=Held JeddEd(Se 2 i)
261,351,000 *14] 261,351
OS83 ots22 JI=ddEA (X 2 18
HA) 687,005,000 x14] 687,005
O3 ot+22 J|2de8d(He 2 1
) 297,905,000 * 14 297,905
Oot=EduII2HE +~8&9
100,000,000& * 14! 100,000
Ok= of=22 Sl & AS=ASA
400,000 *1,000m 400,000
Oot=HMel & Ste2t2 2828 X ELA
& 172,800,000 *14] 172,800
OMg & ol+=22Z (CIVEAIS ZHIAIE
80,000,000& *14! 80,000
03 Al 20HHI 11,924 9,460 2,464
Ott=2t2 FHIAY
11,924,000 * 14| 11,924
s0HEONS6E ZHIAE(7E) 1,950,999 266,000 1,684,999
= 1,701,000
Jl 243,000
s 6,999
401 AlZHIZ SO 1,950,999 266,000 1,684,999
= 1,701,000
Jl 243,000
[Ea 6,999
01 Al&H| 1,944,000 264,084 1,679,916
O7& sO0E0IS0trE EXISA
1,944,000,0003 * 14 1,944,000
= 1,701,000
Il 243,000
03 Al 2 THHI 6,999 1,916 5,083
O+8 s0ENSot=T EXISA
6,999,000 + 14 6,999
dote == ofe2t2 HH|IALY 2,122,000 2,069,991 52,009
= 1,061,000
Jl 122,000
o 939,000
401 Al HIZ S OHbI 2,122,000 2,069,991 52,009
= 1,061,000
Jl 122,000
[Ea 939,000




SN MBS
B mELB2 A
ERl: B3I IZAE ES(AZHENASESH) (2etE =EINESESH) ESR=ED
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
01 Al&HI 1,906,985 1,665,000 241,985
OXOR L2 HYIZA
1,906,985,000& » 141 1,906,985
= 1,061,000
Il 122,000
2 723,985
02 2Z2lH| 208,149 396,000 A187,851
OOZ =SR2 FUIBM
208,149,000 » 14 208,149
03 Al = THHI 6,866 8,991 N2,125
OxIotE =222 HHISA
6,866,000 * 14 6.866
St=XelZ SSA (RS H) 1,523,975 91,614 562,361
= 1,152,000
Jl 30,000
= 115,200
[ia 226,775
401 AlZHIZ S 0HbI 1,523,975 961,614 562,361
= 1,152,000
J| 30,000
=S 115,200
s 226,775
01 AlZHI 1,297,200 790,500 506,700
OISt Z3ot=HelAlE SEA
1,297,200,000& x14] 1,297,200
= 1,152,000
Il 30,000
= 115,200
02 22/l 222,105 167,000 55,105
OISt ZBot=HelAlE SEA
222,105,000 x14] 222,105
03 A2 THYI 4,670 4,114 556
OZlot BZotHelAlE SEAY
4,670,000 *14] 4,670
S22 FHIAIG (S22 FHI(2EHH)) 190,000 693,000 A503,000
Jl 190,000
401 Al HIZ 2018 190,000 693,000 A503,000
Il 190,000
01 A&l 190,000 651,634 A461,634
Ot =22 FHIAH (22H)
190,000,000 * 14| 190,000
Il 190,000
S22 FHIAIS (A7) 1,099,000 475,000 624,000
= 886,000




SN MBS
I FF2elAY
& SEIIZAE S (MAZSENEEEINH) (B2 +=HIHLELSIAH) EERCED
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Il 13,000
s 200,000
401 Al HIZL 01| 1,099,000 475,000 624,000
= 886,000
Il 13,000
[Ea 200,000
01 A<l 1,095,044 471,580 623,464
OSHPY 5422 AEA
1,099,000,000& 99.64/100 1,005,044
= 886,000
Jl 13,000
o 196,044
03 A& CHYI 3,956 3,420 536
OR7F ot MEAY
3,956,000 *14] 3,956
s0E DiSot=C ARG (H7E 010l ER) 667,180 167,000 500,180
= 462,000
Jl 47,000
s 154,000
s 4,180
401 AIEHIZ SR OHYI 667,180 167,000 500, 180
= 462,000
Il 47,000
& 154,000
= 4,180
01 Al&H| 663,000 165,797 497,203
o=, Ooltg® soEllSot+: &8
BIS AL 663,000,000 *14] 663,000
= 462,000
Il 47,000
= 154,000
03 A2 THYI 4,180 1,203 2,977
o=, Oolktg® soElSote: &
BIS AL 4,180,000 *14] 4,180
St-2t2HHIAIY (SEGHE) 1,113,000 452,000 661,000
= 848,000
Il 65,000
Ea 200,000
401 Al HIZ 201 1,113,000 452,000 661,000
= 848,000
Il 65,000
= 200,000
01 A&l 1,105,989 448,746 657,243




SN ABE Dt
Hu: BYABLIAY
o9l BAIIZAS HE(TARLTHLSHEN) (D2 LEHLSHSI) CEERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS&gotx of2te MEAY
1,113,000,000& +99.37/100 1,105,989
= 848,000
Jl 65,000
T 192,989
03 Al 20HHI 7,011 3,254 3,757
OS&gotx ot MEAY
7,011,008+ 14! 7,011
BAIIZAE SY(NHZ 2FIPASE|H) (Rt & 5,709,942 6,346,452 636,510
NS SESH)
Jl 1,741,000
[Ea 3,968,942
BFIIZANE2E XA (SY) 4,009,701 4,719,503 A649,802
Jl 1,740,000
s 2,329,701
201 er23 | 892,000 927,000 /35,000
2 52434l 892,000 927,000 /35,000
OAetESotr=XelAle &5
14,000,0002 123 168,000
OEEE3ot=xicIAlE de|
2,000,000~ 128 24,000
OarZote=HMelANE(HA S 2914 ) M|
43,000,000& ~12& 516,000
Odl=HelAd Se2d d8add(A
S 300HA) 11,000,000& * 12& 132,000
Odt==XelAld SHBEEE & tEZE 2
=2 (ZUH*) 2,000,000 *217H 2~ 42,000
Ott=2t2 2182=(10012)
1,000,000 %1000 2 10,000
307 elztol & 3,073,701 3,044,503 29,198
Jl 1,650,320
Ea 1,423,381
05 212t =S 3,073,701 3,044,503 29,198
O33ot=HelAlE 2SASZHI(SY) 3,073,701
—33ot=HelAE 28 AS2H(32-2
o) 1,271,752,000& x14] 1,271,752
Jl 910,240
T 361,512
—S3ot=HeAE 29 ASBHI(SL-3
=) 169,895,000 *14] 169,895
) 100,000
[Ea 69,89
—33ot=HelAE 2E ASZH(SL-4
T2 29K 4) 1,632,054,000& *14] 1,632,004
Jl 640,080
T 991,974




SN MBS
Bo: BB MY
TP BIED|FAIM SH(TOHD ARNLSHE|H) (2 2EIHHS25]H) (69 =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 104,000 748,000 644,000
Jl 89,680
= 14,320
03 2IZ+RAETAIS I 104,000 748,000 644,000
OZBoHH2IAIE A& (HH+a8-22
) 104,000
—230ot=HelAlE AIEME taH&E1(3
2-A7 2 39H) 104,000,000 * 14! 104,000
Jl 89,680
T 14,320
ot=xclAle 2€ - XA 1,632,481 1,619,232 13,249
101 @124H| 690 849 A159
04 JIZtNZ22 NS E+ 690 849 A159
OS&Eotxeld =2 22RY 690
—Jl2= 80,2402 x1H*4 2 +23] 642
—a=4tl 4,000 x 142 +23] 32
— St 2,0003 18 »4 & 23] 16
201 Ler23| 441,880 458,980 A17,100
01 At2teltl 118,780 123,280 4,500
OS&ot=xcld 22 S4H|
9,0003 x5+« 12 4,860
OBBo4HIT +BBA 248
120,0003 #4790 2+23] 11,280
O3 3ot+HMel& 2elthd AnEIHYR
d) =8 85,000,000 * 14| 85,000
OB+ HRIBYHT SRS
120,000 x9& »32] 3,240
Odt=E 2IEXelE Xt Xt
1,200,000& ~12& 14,400
2 35244l 323,100 335,700 A12,600
Odt=k 2IEdXclE g KRS
150,000& « 12 1,800
Ot= 46t 8 3lH| (S5 )
3,300,000& %12 3,300
Ott=HelAlg EIABZ (IR S 16HA)
20,000,000& «12& 240,000
Odt=HelAe Se2d dE3dHl(88Y
A2 160HA) 4,000,000& ~12& 48,000
Odt=xclAle SHEZE & ArEE 2
SE(8014) 2,000,000& 7.5 2 15,000
Ott=2t2 2182=(15012)
1,000,000 %1500 2 15,000
202 04l 8,000 8,000
01 SLHoIH 8,000 8,000
O=3otxclyd g2 MHEd
20,0002 x5 =80 8,000




FA: Aot
ZH: FH4LB2 A
ERl: B30 IZAIE 2E(RetzE +ENESESH) (Jetz =ZIHESEEIH) EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 957,911 938,403 19,508
05 2IMRIE =3 957,911 938,403 19,508
Ox72ot=HelAE 29 ASZH(8XY
~221600L) 957,911,000& » 14 957,911
401 Al HIZ S OHbI 80,000 80,000
01 A28l 80,000 80,000
OZItESot=xcld MS=Al2el &9
80,000,000 »14! 80,000
402 BIZtAH=01H 144,000 133,000 11,000
03 2IZHRAETAIHHI 144,000 133,000 11,000
O33ot=HMelAlg AIEE t=aHI(8
P-4 7A) 144,000,000 14| 144,000
eIS&N(Gl=Held) |Alzel 7,760 7,717 43
) 1,000
o 6,760
101 21A4H| 2,760 2,717 43
04 JIZtN2 2N S 2+ 2,760 2,717 43
OLlEsA HZHAH =Y 2,760
—JlEs 80,2402 x2H 4 L *43 2,568
—a4tl 4,000 x2& #4 & *43] 128
— St 2,0003 x2S 4L =43] 64
201 Zet=3h] 5,000 5,000 0
Il 1,000
s 4,000
02 s3=gHl 5,000 5,000 0
OLB&A FAZel(SAHXMA, II2S 2
= 2 MI)eF 8) 5,000,000 * 14 5,000
Jl 1,000
s 4,000
HE A (EEY) 8,582,243 1,824,464 6,757,779
= 5,106,000
= 1,174,850
Ea 2,301,393
BII=ANE ES(Tetz +ZHSE3) 8,566,100 1,783,641 6,772,459
= 5,106,000
= 1,174,850
= 2,275,250
G2t 2 FHIA (X10F2) 3,903,000 143,000 3,760,000
= 2,803,000
Ea 1,100,000
401 AIEHIX S0 3,903,000 143,000 3,760,000
= 2,803,000
o 1,100,000




SN MBS
Hu: HELBRIAY(HTZ)
Tl BIED|EAIL BE(ROE AEIIESESIH) (12l M2
A - ZE - BR(E) - AIRANY - BES ofl &t G o HIDEZ
01 Al&HI 3,892,025 141,970 3,750,095
OTeR(224) otz AEAY
3,892,025,000& *14] 3,892,025
= 2,803,000
Ea 1,089,025
03 AlZ = THHI 10,975 1,030 9,945
ORoR(RL4) Stttz AEALY
10,975,000 * 14! 10,975
IS sHENSOE ZHIAM(E NEABUHSIIZ) 814,500 819,641 25,141
= 407,250
s 407,250
401 Al HIZ 2018 814,500 819,641 A5,141
= 407,250
Ea 407,250
01 AlZHI 809,100 814,500 25,400
OZE S0EIS4E SXZAHE XY
2ZUE013) 809,100,000 *14] 809,100
== 407,250
o 401,850
03 A& CHYI 5,400 5,141 259
OZs s0E0tSds=E EXI3AHE X
ZUS213) 5 14l 5,400
Z DiScts=E ZHIAI(BE) 3,135,000 171,000 2,964,000
= 1,881,000
& 627,000
s 627,000
401 Al HIZL 01| 3,135,000 171,000 2,964,000
= 1,881,000
< 627,000
[Ea 627,000
01 A&l 3,126,535 169,769 2,956,766
OHIg S0IEDIS5IE ZHIZA
3,126,535,000& * 14! 3,126,535
= 1,881,000
== 627,000
[Ea 618,535
03 A2 CHYI 8,465 1,231 7,234
OHIY SOE02H4E FHIZA
8,465,000 *14] 8,465
S0IE OtSot=T FHIAIS (EHAH) 203,600 500,000 A296,400
= 122,000
= 40,600
= 41,000
401 Al HIZ 2018 203,600 500,000 A296,400




SN MBS
M BFL2e AR (8EY)
CHel: BHAD|RAI SE(TOIR LRNLSE5|H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 122,000
=S 40,600
s 41,000
01 Al 202,131 496,400 N204,269
Ozdt s0ENSG+T EXISAH
202,131,000 x14] 202,131
= 122,000
= 40,600
o 39,531
03 Al 20HHI 1,469 3,600 22,131
Ozt sO0IEDIS0tE EXISA
1,469,000 x14] 1,469
HMOLK 7 s0HEOS ol== HHIAY 500,000 0 500,000
= 300,000
< 100,000
Ea 100,000
401 AlEHIZ SO 500,000 0 500,000
= 300,000
s 100,000
s 100,000
01 Al&HI 496,400 0 496,400
ORYUOINT SOEDES ST FHIAY
496,400,000 496,400
= 300,000
=S 100,000
s 96,400
03 Al 20HHI 3,600 0 3,600
OFBHOIK P S0E0I2 SH+E AL
3,600,000& 3,600
EBZI AL 2(Retz 2L SES) 26,143 40,823 A 14,680
2 ¥ 2*Hel 26,143 40,823 A 14,680
201 er2 3| 10,543 10,223 320
01 AtR2telHl 3,000 3,000 0
OMlot=XelAE =E2BA ==
50,0002 2004 2 1,000
Obi+&H 21510t FoANE (24 Soig
X) s2dHX M
2,000,000& *14] 2,000
2 S5=24g4l 7,543 7,223 320
OJfelst=xMelAld T2 8 |24
380,600 122 4,568
OJfelot=xiclAld WEHA oHIZ 25
8502 *1,750 0K A #22] 2,975
402 2I2FXH=201H 15,600 30,600 /15,000
03 2IZHAETAIHHI 15,600 30,600 215,000
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